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�I ���� Ĥ �� !��	���
�	�	� :	
�	�I �� 
R �!
 ���� ��� ��
��	�	
 ��
����� !�� ���� ��� �
���	� �!� �=�� A��
�����	�
�	

���	
�� ��	 �=�� A��
�����	� �	��	�	� �!� �	� ���	�����	� #
)	
:���	� α =
tan(|r2|/|r1|) !�� ��	
 �	��	�
����	� ����	��I ��	 ��	 �!�
����!�� �	
 ?	���
	� �r1
!�� �r2 �� (�!� �	���
	��	�� 5!�	
����	 (	���!��	� 	
�	�	� ���� �	��	��!������
�	� ΨS,π

L,M !�� ��4!�	�&
��	 ���	������!
�	� E(R)�

M�� H'0I '-J ��� ���	������!
�	� ;!�������� �	
�����	� !�� �!�� W�������	��	� �	
 M��
�!��������	�	
�	��!��	� 4:����	� �	
����	�	�	� �	��	��!������	� �	�!��	�� ��
�!�
	
��� ���� 	�� $��	��I ��� ��� �	� 3!���	�4���	� K !�� T � ��	 ����� ��� #	

��� ��
��� �	�!��	� :�
�	� :�
	� � !�� �	
 �	!	� 3!���	�4��� A �	�
��	� :	
�	� �����	�
M��� A�����1������ :�
� ���� �	!�	 !��	
���	
� ���	:	��	��

��� ����(����5�
��#������� 43�����	

�	���� !�� %
���� H',I '<J ����!�	� ��
I ��� #	��!����� ��� H+
2 �8��	�=� 4! �	�
����

�	�I :��	� ��	 (���	� �	
 A	
�	 !�� �	
 B�	��
��	� �	
��!���� :	
�	�� %	� ��	�	

�
����� ����� ����� �����
��� ���
� ��&� 	
� .�����-*�5
���� �-�����- �����0�
����� ��� 1�����	�
���� ����� �������
��� ���������



�	�	 
��������� ������
�
����������
 "6

8	����	 :�
� �	
 #��������)	
���
 �� ���������
�����	� �!��	�
=���� ���� �!� �	�
�	��	� C
���	���
	� �r1 !�� �r2 �	
 �	��	� B�	��
��	� :	
�	� �	!	 A��
�����	� 	
�
4	!��� �R = �r1 − �r2 ��� �	
 ?	���
I �	
 �	��	 B�	��
��	� �	
����	� !�� �r 4	��� ���
��
	� �	�	�����	� $��:	
)!��� �!� 4!� A	
�� 5!� :�
� �R ��� 	��	 �����������	I
���� 	��	 ���� ������� ���	
��	 �
& 	I ���	�	�	�I :��!
�� ���� ��� �
���	� ���
������� �	��� A��
�����	� �!� ��	 �
	� A��)��	��	� ��� �r 
	�!4�	
�� ��	�	
 $��
���
��� 4!������ ����� ���	��	�	��I �� ���� K� �	
��	 ��	 B�	��
��	� D!�� ����� �RE �	�

����	�� �	:	�	�� ��	 �	� �	
 %	�����!�� ��� H+

2 ��������	� 8��	�=�	� =�����I :	
�	�
��	 �	��	��!������	� =�	
 �
��!��	 ��� 8��	�=��
�����	�I (��������� !�� ?��
�������
4!�����	� �����
!�	
��

��	�	 %	���
	��!�� �	� #	��!������ �=�
� 	�	������ 4! 3!���	�4���	�I ��	 ���� �!
��
��	 :	��	
 ��	� 	���	�=�
�	� 3!���	�4���	� KI T !�� A �!��
=��	� ����	��


�� ������	��� ����������	��� �����

O�� ��� ������ �� ��	 !
�"���	 ��� #	
���� $�	������
%��	 ��� ������ �� ���� $�	�������P

��
�� ��
��	

��	 $��
&����	
��	���!�� 	��	� ;!���	��	��������	� $
��	�� ���� �!
 �� �	��	�	�
����	� ����
����� �	�&�� :	
�	�� @� �	� �	���	� ����	� �=��	� ?	
	������!��	� �	�
�
���	�� ��
�	����	� :	
�	� !�� �	���� ���� ���� ��� �!
 �!�	
����	 M&�!��	�
�&������ @� �	� 0+	
I -+	
 !�� ,+	
 ���
	� �	� �	�4�	� ���
�!��	
�� :!
�	� 	����	
8	����	� 	��:���	��I ��	 �!�� �	!�	 ���� ��	 �
!�����	 ��� ���	
�	� M&�!����	
�
���
	� ����	�� @� M�!�	 �	
 .	�� :!
�	� ��	 :	��	
	��:���	�� !�� �!� �)	4�	��	 �
��
��	���	��!��	� ���	)� ��

5��� =�	
 ,+ ���
	� B��:����!�� ���� ��	 �	!�4!���	 ���	:����	� 8	����	� ��
�)	4������	
� !�� �!��	����	
�I �� 	� ���:	
 �����I ��	 !
�)
=������	� �
!�����	� 4!
	
�	��	�� B��	 �	������	
�	 %	���
	��!�� ��	�	
 ?	
���
	� !�� ��
	
 ��:	��!�� �!�
��	 ��������������� ��� #	��!� :=
�	 ���	
 �	� (���	� ��	�	
 �
�	�� =�	
��	��	��
@� �	� ����	��	� ���������	� ����	� �
��4�	� ��	 �
!���	����	� �	
 :��������	� 8	�
����	� ���44�	
� :	
�	�I ���	 K	���� ���	� �!� ��
	 �)	4�	��	 ��:	��!�� �!� ��� #	�
��!�)
���	� 	��4!�	�	��

����� ������������	������	�	��	

�
�)
=������ :!
�	 ��	�	 8	����	 �=
 ��	 $�
	!!�� �������	
 B�	��
��	� �� ����	
�
���L����	� 	��:���	�� H'6I '*J� �� ��	�	� %	��)�	� �
�	���	
� ���� �!�� ��	 ����	��	
%	���
	��!���

%	����	� :�
� ��� �	
 A����
!����� �	� #��������)	
���
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�	������ ĤH !�� 4!���4����	� >	
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Ψ =

(
h̄2

2me
∇2

1 +
e2

|�r1| +
h̄2

2me
∇2

2 +
e2

|�r2| −
e2

|�r2 − �r1| + E

)
Ψ = 0
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2me
k2
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Ψ(�r1, �r2) = A
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n

∫
ψn(�r1)Fn(�r2) D'�""E
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�	� En ����I �	� �!��
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∑
n

∫ (
h̄2

2me

(∇2
2 + k2

n

)
+

e2

|�r2 − �r1| −
e2

|�r2|
)
ψn(�r1)Fn(�r2) = 0 D'�"'E

��� k2
n =

2me

h̄2 (E −En)

8!���)��4�	
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 �r1 �=�
� 4!
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 ��L	
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 Fn(∇2
2 + k2

n

)
Fn =

∑
n

∫
UmnFm D'�"0E

��� Umn =
2me e

2

h̄2

∫
ψ�

m

(
1

|�r2 − �r1| −
1

|�r2|
)
ψn d�r1 D'�"-E
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Ĥθ ��� ���!
�� ����� �	�
 �	
���	���I ���� 	
 �	���4� 
	��	 !�� ���)�	9	 B��	�:	
�	�
��	 
	��	� B��	�:	
�	 ���� �	�!��	�	� .!�����	� 4!�	�
��	�� $�	 ���� !���������
��� (��������:���	� θ !�� �����	� ��� �	� B��	�:	
�	� ��� ����� 
���	
�	� #��
�������)	
���
 =�	
	��� ��	K	���	� ���)�	9	� B��	�:	
�	I �	
	� �	
�	 E − iΓ/2 ����
�	� ?�
������	� ��� θ ����� ���	
�I �	�	� ��
	�� �!��!��� =�	
 ��	 ��������	� DEE
!�� %
	��	� DΓE ��� (	�����4	� �� B�	
��	�)	��
!�� .!���4���� ��4! �
	�	� B��	��
:	
�	 �!�I ��	 ������!�	
���� 	������ ��� M���	� �!��	
	��� ����I ��	 ��� �	
 ����	 �	�
(	�����	��� 	��	� ����	� ��� 2θ ����	�� ��	 �!���	 �!� �����	� M���	� �	�&
	� 4! A���
���!!��4!�����	� �	� ����� 
���	
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d2σ(θ, φ)

dΩ
=
σtotal

4π

(
1 + β

[(
1 − sin2 θ(sin2 φ+ S1 cos2 φ) + S1 cos2 θ

)
+ 1

4

])
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dΩ
=

σtotal

4π
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1 + β P2

(
cos(θ)
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cos2(θ) − 1
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1
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	L�
�
�	
����	�	� ���� D%��� ,�'E�
��	���!�� ,�- ���	�
�	
� !�� �� ���,�, 	���	�	�4� 	
����
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ÿ′e
−ω2

+
Ex′

Bz′
t− A D,�*E

��	�	 	������	 ��L	
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���� ��� �!
�� B���	�4	� �	
 ���	��!�� ��� ���
,�/ �� ��� ,�, !�� �������	 	��	� @��	�
�	
	��

x′e(t) = −R cos (ϕ+ ωt) + C D,�"+E

��� C = R cos (ϕ) :	�	� x′e (t = 0)
!
= 0� �	�4� �=��	� ���� R !�� ϕ �	������ :	
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��� ��� ,�""� R =

√(
y′e(Te) − Ex′

Bz′
Te

)2

+
(
x′(Te)
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 He+�@��	� 26, 35 ��
B�	��
����	 �	�����
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�!��	����	�	 B
	������	 )
� $��
���� ��� 1, 08 · 106

����� He+�@��	� �!� (	�������4��	� ��� 0, 9 · 106

8	 ��!	
∗ )
� $��
���� < ��� "0 8��!�	�
6*I*", 	?<Eγ<6*I/ 	? $)	��
��	�	
�	��� "I<' ?Z��

$��
���:	��	� 0 �	?
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